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Task 3: Selving Quadratic E quations by Factoring Practice
1. Solve each quadratic equation by factoring. Follow along the steps in the first two examples.

a X+7x+12=0 b. 105*+8x=0
simple trinomial o factor the expression as
x+4)x+3)=0 appropriate (common, simple, common factoring
tricky, difference of squares) 2x{(5x +4) =0
X+4=0 x+3=0 e seteach factor equal to zero 2x=0 Sx+4=0
x=-4 and x=-3 ¢ solve each of these equations Sx =4
for x. x=0 and X =~3
c.xX*-8x+16=0 M |;a[¥ d 6x°+9%x=0 QcF=3x
(- (x-P=2 b I,'*’ -4y 3x (ax+D)==
K40 o P S
X={ x={ 3 3 _&(: -3

]

2 2

o {(_‘ or X=4 x=0[ —
J =y

Q

g. x*-16=0 f. 4x* - 4x+1=0 M |A (Y
(x4 =" Ly-2%-2xt=0 4 l:t_F-?.,-Z
Hieo  Fuzo ) ()

_‘=. x=4] (2e=1)(2x~-1) =7 ,

'&_‘1 x=9 \'&)l"l'-‘¢_ ' {J/g_}

e G~

Note: Sometimes, you will need to put your equations into standmm first before you factor it.
i 3x°-2=-7x+4  (Collect all He +erms j. A&B(+1):9+4x ?DlL(fomd)
A\l
3%11-?)0-9-""-( =0 & wohee the leq (6 term U 4 Lf(==q tlUx Colleck Herms LS

TS f:o-:-b'\lc . Uyl -4-Ux =" 5{.«-19‘?{\9

&XL+-—1‘¥-6 =0 ~ Factor -dej +e, qy*-q =°O Fector Das
P2 _2x+Qx-b =© ol o L - (e Dl2x-3)="2
x(gy-'l)J:'b(?:r?-):O 19 3|72/ l S~

(2x-D(x +3) =0 Axtl=o a"'.fxf by

) \;&3 - ax-.—.?;/ =%
Ax-2=0 —y-:_j‘( T
Uy=2 =

A R
SL'?"Z/;S
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_l)(i—)(:+1) 0
r-yzo v+l =° -
r=4 == i- ,ﬂ

3) (b 5 b+2

v @ 727

5) (p+3)(2p—1) 0

f‘-f‘:'ga 2?-! -0
P=-1;. 2‘?" {_5‘ i}
7wt -Tn+12=0 P
@-3)0\—'4)—_0
h=_3 n=L{ isjqj

9) 2 +10r+21=0

(r+3)+t) =0
r="2 % =%

11) m* +2m=0

-7

m+2)= O
2(0 A2 =2 ?-2,ﬂ
13) p*—6p=0
Plp-b)=© o,
p=o  p-b=0 1o

b
15) 3v? +%1—65-
2(v* 4V-20)=O

(- +5) =9
17) 5v* —2v—-7= U wy x|

BVt4Sy-Fu-F =0

‘Sqtv*l) ?(\H'D—
(v (5v-3) =

19) 3n* +1ln—4=
3n1-0+l1n Y=o _&ln—kf
a(3n-N4y3a-1) = O Uy
2n-D(n+Y) -0

0 r\'“{:O
‘ (\=l/3!

2) (3a-— )(a+2) 0

dq-2=0 atdce
2z ol 1S
Q=%
4) (4n+1)4n-35)=0
tzo Un-5- =
4ﬂqn', = - ,..5:
= Vq n= T 4

6) (\—3 (x—4)=0

K-S0 X-= C{=°
X=5

i)

8) a*—4a—-32=0
(@t4)q-8) <o
a="4 q=§
10) v =3v—-10=0

(v1LXv -5)= o
V== V=5

12) x* —64=0

(w—i’Yx ?

(@ +2)(q~2)-
Qt1=20 Q-2=°
Q--2 Q=2
16) 31> —27= 0
3¢*-9) =
3(r+ 'D(r-3)- J

721}

Ml rr-3==

r=-3 r=23
-3,3

18) 54> —2a=0 } "-]J

a(Sq-2) =©

20) Sn*+83n+24=0 (a0
T4 dntlot U = > o‘qsl 3,40
023
5
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(Gn{—]yn +8) = O
Cn+l=-o ntg-o
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21. 7m* —13m—24=0

22.5k*—3k=0

MIA [V ECF:-k
:f'ml_."“m +8m-2y=0 A5 -1 ?"'u .k(‘l,'l/,- ‘5) =0
'-fm(m-z;) +§(m-3=o (o3 ko GDL-1=0
(n-D(Fm+8) = O 2| 8y k=3
M-‘{I,:a —.;.‘;’;.13‘*0 ) :::
- =" 4 -

N e B -3 ~ {0 %]
- 2w
23.5x*+12x—9 =0 N 24,157 —4r —3 =0

0y -3y 1% -9 =9
w(5%-3)+3(5x) <0
(5x-)(x3) =©
3=0 ¥+3=0
K= x=

>3

25.7p*—4p =0

M) AP
-yy ) 73 My

P(?f -4) =0
?:0 ?f)-L[:/O
p= ’4/7_

B {01 q/ﬂ

27. —4x% +5x — 15 = —5x% — 1 colleet tera
Oy 45% =15+ | =0 ond.S
x> 4Sx-ly =9
(\(—.(L)(F“'q') =0

x-2=O X¥F=2

=) X =
o §hey

29.3x% 4 Bx = —2x — 21 4 2x?
Ay 4w+ 1 U =0
x4 0y +Al = O
&*)(x+1) = ©

X4d=0 x+tF+=°2
x=-3% X=—32

.. i-?,-‘ﬂ‘ -

8)&7—- Ex -+ =0
8x(x-1) -F(x-1) =o

r ISc>=9rt+br-3 =0
Y (504 (5r-3) =
(Br-D(3r+1) =0

Hr-3=O0 Jr+l=O
=Y T4

L. {-73 ) 3/E'j
26.8x2—15x+7 =0 M| &P
(x-1)(8x-F) =©

x-l=©  8x;4 =2

M| &P

S

i < i
28. —b“ +11b + 30 = —2b°
F-brtllb+30 = O
Lr+llb+30 - O
L+3)(t6) =O
b+S =0 L+6 =0

=)

30.—7a* —13a + 49 = 7 — 8a®

Ra-Fa-12a0+uq-+ =0

a*-12a+U2

=0 !
6,7
(O—GDCG\-—?‘)-_O
a=6 a="1
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